Nitro 4-Tec (Model 48077) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

Air Filters

5260 Air filter housing/ foam insert/ straight base/ angled base/ cable
tie (1-each) (TRX 2.5, 2.5R, 3.3) ..ueiiiiiiiiieiie e

5261 Air filter inserts, foam (3) (pre-oiled) (TRX 2.5, 2.5R, 3.3).. .

5263 Oil, @ir filter.........ccooooiiiiiiiiiii

Bearings & Bushings

4889 Ball bearing (1)(10x19x5mm)
4607 Ball bearings (5x11x4mm) (8)
4612 Ball bearings (10x15x4mm) (2)
4609 Ball bearings (5x10x4mm) (2)
4710 Ball bearings (5x11x4mm) (12)
4611 Ball bearings (5x11x4mm) (2)
4608 Ball Bearings (5x11x4mm) (6)/ 5x8x2.5mm (8)..
2728 Ball bearings (5x8x2.5mm) (2)

5119 Ball bearings, blue rubber sealed (10x15x4mMmM) (2) .....ccceevveeruneene

5115 Ball bearings, blue rubber sealed (5x10x4mm) (2) $3.50
5116 Ball bearings, blue rubber sealed (5x11x4mm) (2) ... $3.50
5114 Ball bearings, blue rubber sealed (5x8x2.5mm) (2) $4.00
2545  Bellcrank bushings (plastic) (5x8x2.5mm) (4).............. $3.00
1985 PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearin $2.00

Belts & Pulleys
4864  Belt, front drive (4.5mm width, 78-groove HTD)
4863 Belt, middle drive (4.5mm width, 121-groove HTD) ..

4865 Belt, rear drive (6.0mm width, 52-groove HTD) .....
4894  Pulley shaft, front .........c.ccoeiiiiiiniiic e $4.50
4894X Pulley shaft, front (blue-anodized, light-weight aluminum) ......  $7.00
4893 Pulley Shaft, Far ..........ccciiiiiiiiii it $5.50
4395X Pulleys, 15-groove (front/ rear) (blue-anodized, light-weight
aluminum) (2)/flanges (2) $32.00
4895  Pulleys, 20-groove (front/middle/rear) (2)/flanges (2)/ axle pins (2)  $6.00
4895X Pulleys, 20-groove (front/middle/rear)(blue-anodized, light-
weight aluminum) (2)/ flanges (2)......ccccerieeeiieiiiieeeie e $32.00
2754 Stub @xI€ PiNS (4) .e.voiieiiiiiiiiiiie e $1.00

1926 Antenna caps, vinyl (2)/ antenna spool .........cccccevvveiiiiiiciecnns
5526 Antenna crimp nut, aluminum (blue-anodized)/ antenna nut tools ..
5526R Antenna crimp nut, aluminum (red-anodized)/ antenna nut

tools

1726  Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)..............
3170X Battery holder, 4-cell/ on-off switch .
1834 Body clips (12) (standard size)
1815 Body washers (8)
4811 Body, Nitro 4-Tec (Clear, requires painting)
4812 Body, Nitro 4-Tec 3.3, ProGraphix (replacement for the
painted body. Graphics are painted, requires paint & final
color application.) .......cccocevevennne
4813X Decal sheet, Nitro 4-Tec 3.3....
2514 Decal sheet, racing sponsors......... .
4214  Front body mounting posts (2) W/ SCrews ................. .. $2.50
9950 Official Team Traxxas racing decal set (flag logo/ 6-color)....... $4.50
4215 Rear body mount base/ rear body mounting posts (2)/rear body
mMounting Clamps (4)/ SCrEWS...........c.ovuiiviiiiiiiiiiiieiiseseseeees
Brake Components
4882 Brake cam (blue-anodized)/ cam leVver ...........cccccooviiincininnnnnen. $9.00
4884  Disc, brake/ hub, adapter/ 2mm pin
4883 Pads, brake/ cap screws................

Servo horn, throttle-brake/ shift (1).
Slide carb linkage set (throttle link, brake link

Chassis & Attachments

and hardware

3170X Battery holder, 4-cell/ on-off SWItCh ..........ccccoiiiiiiiiiiiicicee, $5.00
4827 Bearing block, front (supports front shaft) (black) /belt
tension adjustment shims (front/ middle)/ screws .................... $6.00
4827A Bearing block, front (supports front shaft) (grey) / belt tension
adjustment shims (front / middle) / screws $6.00
4835 Body bumper, foam
4826 Brace, rear (black)
4826A Brace, rear (grey)
4335 Bumper, front
4821 Cover, Receiver (1)/x-tal access rubber plug/adhesive foam
chassis pad/ 3x8mm BCS (2)
4860 Engine mount, screws (Nitro 4-Tec).
4318 Housing, diff & cover (f)/ shock tower (f)
4822  Lower chassis, 2.5mm aluminum (blue)

For assistance, call 1-888-TRAXXAS, or e-mail Traxxas anytime at support@Traxxas.com

4859
2715
4824
4824A
4825
4825A
4823
4823A

4609
5116
4817
4146X
3281
4142
6542
4815
4816
4819
4820
1985
3159

4840
4881

2382

4628
4628X
4351
4851

2754

5238R
5270R
3230
3232X
5228
5290
5211R

5277

3155
4941
4085
5287
5246
5142

5485

5483

5541X

4579
5280

Screws, 3x10mm flat-head machine (hex drive) (4)
Servo mounts (2)/ screws (6)
Side plates, rear (1&r) (black)/ belt tension cams (2)...
Side plates, rear (1&r) (grey) / belt tension cams (2) (grey)
Stiffeners, chassis (1&r) (black)
Stiffeners, chassis (1&r) (grey) ..
Upper chassis (black)
UpPer ChasSIS (GreY) ........cuiiiiiiiiiiiiiiiiiiiiiiiieieie e

Clutch & Related Parts

Ball bearings (5X10XAMM) (2)......coouiiueiieiienieaie e
Ball bearings, blue rubber sealed (5x11x4mm) (2)
Clutch bell .
Clutch shoes (2)/ spring (T-Maxx/Revo/Jato/Nitro 4-Tec) ...............
Cone, splitbeveled...........ccooiiiiiiiii
Flywheel
Flywheel with magnet (35mm)
Gear, clutch (1st speed)(15-tooth)(standard)
Gear, clutch (1st speed)(16-tooth)(optional) ..
Gear, clutch (2nd speed)(19-tooth)(standard)
Gear, clutch (2nd speed)(20-tooth)(optional)

PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearings) ...
Screws, 3x10mm caphead machine (hex drive) (6)/
lockwashers (6)/ heX WrenCh .............ccocvveiiiiiiiiiiiiiicc $2.75

Differential Components
Ball differential, Pro-style (with bearings) ..........c.cccooeiiviicninens
Differential (34-groove)/ flanged side-cover & SCrews....................
Planet gears (4)/ planet shafts (4)/ sun gears (2)/sun gear
alignment shaft (1) all hardened steel....

Silicone

Differential output yokes (2)/ 3x5mm countersunk screws (2)/

3MM SEL (SEL) SCIEWS (4) .vreveeiieiierierieieeie s ete et see e $4.00
Differential output yokes, hardened steel (w/ U-joints) (2)........ $19.50
Driveshafts, telescopic (4-external & 4-internal).........c.ccccceveenne $8.00

Driveshafts, telescopic (external-splined (2) & internal-
splined (2))/ metal U-joints (4)
Stub axle pins (4) ....
Stub axles (2

Engine Components
Cooling head, PowerTune (machined aluminum, blue-
anodized) (TRX 3.3), head protector (1), 3x6mm CCS (5).............
EZ-Start 2, complete system with controller, drive unit, wiring
harness

Glow plug, standard (long-hot)/ gasket.....

Glow plug, super-duty (long-medium)/gasket .............. $7.00
Head protector, cooling head (1)/3x6mm CCS (5) (TRX 3.3). .. $3.00
Piston/sleeve (matched set), wrist pin clips(2) (TRX 3.3).....cccccueene $80.00

Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX
2.5, 2.5R, 3.3)
Shaft, starter (TRX 2.5, 2.5R, 3.3)......
Starter, recoil (complete with screws) (TRX 2.5, 2.5R, 3.3

Cable ties, medium (black) (6)..
Coupler, exhaust (silicone)

Hanger wire, universal (6-inches, cut and bend to suit)............
Header, blue-anodized aluminum (for rear exhaust engines

only) (TRX 2.5, 2.5R, 3.3)..c.ccciiiiiiiiiiiiiciici s $20.00
Pipe coupler, molded (for use with pipes 5152 (T-Maxx) &

4452R) (TRX 2.5, 2.5R, 3.3)...cciiiiiiiiiiinicin s $1.75

Screws, 3x15mm cap-head machine (hex drive) (with split and
flat washers) (6)....
Tuned pipe, Resonator, R.O.A.R. legal (dual-chamber,

enhances mid to high-rpm power) (for Jato, N. Rustler, N. 4-

Tec with TRX Racing ENQGINES) .......coveiiiiiiiieiie s $55.00
Tuned pipe, Resonator, R.O.A.R. legal (single-chamber,

enhances low to mid-rpm power) (for Jato, N. Rustler, N. 4-

Tec with TRX RaCiNg ENQGINES) ...c.ooiviiiiiiiieiiieiie e $50.00

Tuned pipe, Resonator, R.0.A.R. legal, blue-
anodized (aluminum, single chamber) (fits Jato, N. Rustler, N. 4-
Tec, with TRX Racing Engines)

EZ Start 2 & Related parts

Connector, wiring harness (EZ-Start and EZ-Start 2) ...
Control box (complete) (EZ-Start 2)

REV. 140421 1139



Page 2 Nitro 4-Tec: TQi 2.4GHz Radio System & Traxxas Link Wireless Module (Model 48077) Parts List

5281
5273
5270R

5276
5148
5275

4581
4581X

5279
3570
5211R

5169
5282

2578
5277

4338
2728
4843
4334
4332

1942

2742
2742X
3744
4336

4336X

4831
4330A
4333
4333A
4329
4330
4875
2537
4832
4841

3147X
4448
4449

3149A
5367

Control box battery cover w/ belt clip (EZ-Start 2)
Cush-drive elements (4) (EZ-Start 2)
EZ-Start 2, complete system with controller, drive unit, wiring
harness
Gear set (complete) (EZ-Start 2).
Grease, white lithium
Housing set (inner, outer)/ 3x12mmBCS (5)/ 3x20BCS (1)/ motor
bUShiNG (EZ-Start 2) ........ccoocviiiiiieiieeee e
Lead wire, glow plug (blue) (EZ-Start and EZ-Start 2)...................
Lead wire, glow plug (blue) (EZ-Start and EZ-Start 2)/ molex
pin extractor (use where glow plug wire does not have bullet
connector)
Motor/ pinion gear/ motor bushing (EZ-Start 2) ..
Mount, plug (aluminum)
Roller clutch/ 6x8x0.5 TW (1) (also called one-way bearing) (TRX
2.5,25R,3.3)
Screws, 2.6x8mm countersunk maching (6)............cccocvvvverieerinenins
Screws, 3x12mm button-head machine (6) (starter attachment
screws With ThreadloCk) ..........cooueiiiiieiieiieiieice e
Screws, 3x12mm button-head machine (hex drive) (6)
Shaft, starter (TRX 2.5, 2.5R, 3.3

Front Suspension & Steering
Adjustment spacers, caster (1.5mm & 2.0mm) (4-each)..
Ball bearings (5x8x2.5mm) (2)
Bellcranks (I&r)/ bellcrank post spacers (2)
Caster wedges, reaCtIVE (2) .....ccviuerieiiiiiiee e
Control arms, upper (2)/ upper rod ends (with ball joints

installed) (2)/ 4x20mm set (grub) SCrews (2) .......cccccevvvvervenieeiiennnns $6.00
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

SCIBWS (2) 1uvevetieteeseateeseeeestetestesbesbeesesbesbeeseaseeseeeestebeeeseesbeeneanas $7.00
Rod ends, long (6)/ hollow ball connectors (6).........cccceovveerveeannnenn $4.00

Rod ends, short (6)/ hollow balls (6)
Servo saver w/ adapters
Steering blocks/ axle housings (1&r) w/ metal
inserts(3x4.5x5.5mm) (2)
Steering blocks/ axle housings, blue-anodized 6061-T6
aluminum/ (I&r) w/ metal inserts(3x4.5x5.5mm) (2)

Suspension arms, front (1&r)/ ball joints (2)............

Suspension mount, lower (3 degree-std) (grey)..... $2.50
Suspension mount, upper (3 degree-std) (black) $2.50
Suspension mount, upper (3 degree-std) (grey). $2.50
Suspension mounts, lower (0 degrees).......... $2.50
Suspension mounts, lower (3 degrees) (black). $2.50
Sway bar set (front/ rear) $4.50
Threaded rods (20/25/44mm 1 ea.)/ (1) 12mm set screw . $2.50
Tie bar, fierglass. ... $4.00

Tie rods/ upper camber rods (rear) (24mm turnbuckles) (4)/
draglink, 36mm (threaded rod

Fuel Tank & Line

FUEl IN@ (L FOOL) ..veeeiiieiiie e
Fuel line (610mm or 2ft)
Fuel tank (75cc)/ rubber vibration cushions (2)
Fuel tank rebuild kit (contains cap, foam seal, screw, spring, and
screw pin. Replaces old style with primer bulb.)..........
Heat shield tubing, fiberglass (2) (black)
Pull ring, fuel tank cap (cap fits Revo) (1)/ engine shut-off
clamp (1

5001
3232X
5148
5263
5001R

5060
5010
5070
5020
5080
5030

1552
3175
1834
5477
5478
3980
5476X
5475

Fuel, Lubricants & Supplies

Bottle, fuel filler (500CC)........cccuiiuriiiiieiie e
Glow plug, super-duty (long-medium)/gasket
Grease, white lithium
Qil, air filter
Rebuild kit, fuel filler bottle (includes bottle lid (1) and dispensing

tube caps, rubber (2) (fits 8mm or 5/16" dispensing tube))..............
Top Fuel, 10% nitro (gallon)
Top Fuel, 10% nitro (quart)
Top Fuel, 20% nitro (gallon) .
Top Fuel, 20% nitro (quart)
Top Fuel, 33% nitro (gallon)....
Top Fuel, 33% nitro (quart) ..

Hardware

Backplate screws (3x8mm hex cap) (6)/washers (6)/ wrench...
Balloons, rubber (2)
Body clips (12) (standard size)....

Flat wrench, 5mm (blue-anodized aluminum)
Flat wrench, 8mm (blue-anodized aluminum) .
Glow plug wrench (universal Wrench) ..........ccccoveiieiieniciieinens
Hex wrenches; 1.5mm, 2mm, 2.5mm, 3mm, 2.5 ball......................
MUIEI-tOO] (PIASTIC) .o

3647
1747
1747R
1747G

1985
1942

2742
2742X
5169
2577
2551
4859
5282

2578
2579
2553
4857
4978

4858
2582
4871
3932
2576
4897
2754

3028

3065

1726
2947
6548

2914
3037
2919

2946
2921
2931
2937X
2933
2932
2010
2072
6536

3031

3032
6518
6520
6521
2041
2052
2071
2074
2053
2070
2075
2055
2056
6550
6551
2928
6509X

6507X

6528

Nuts, 4mm flanged nylon locking (steel, serrated) (8)
Nuts, 4mm nylon locking (10)

Nuts, aluminum, flanged, serrated (4mm) (blue-anodized) (4)..

Nuts, aluminum, flanged, serrated (4mm) (green-

F=TaoTe IF4=Te ) (/) OSSOSO ST $7.50
PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearings)... $2.00

Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
screws (2)
Rod ends, long (6)/ hollow ball connectors (6)
Rod ends, short (6)/ hollow balls (6)
Screws, 2.6x8mm countersunk machine (6)...
Screws, 3x10mm button-head machine (hex drive) (6)
Screws, 3x10mm countersunk machine (6) (hex drive)
Screws, 3x10mm flat-head machine (hex drive) (4)
Screws, 3x12mm button-head machine (6) (starter attachment
screws with Threadlock)
Screws, 3x12mm button-head machine (hex drive) (6).
Screws, 3x15mm button-head machine (hex drive) (6)
Screws, 3x15mm countersunk machine (6) (hex drive)
Screws, 3x20mm countersunk machine (hex drive) (6)
Screws, 3x21mm button-head machine (hex drive) (partially
threaded, Revo brake bolts) (6)
Screws, 3x25mm countersunk machine (hex drive) (6)
Screws, 3x30mm button-head machine (hex drive) (6)
Screws, 3x36mm countersunk machine (hex drive) (6)
Screws, 3x6mm flat-head machine (hex drive) (6)
Screws, 3x8mm button-head machine (hex drive) (6)
Screws, set (grub) 4mm (6) (with threadlock)

Stub axle pins (4) .

Adapter, Molex to Traxxas receiver battery pack (for

charging) (1)
Adapter, Traxxas connector female to Traxxas receiver
battery pack (for charging) (1)
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)
Balance board- XH......occcooiiieiiiiiiiieeiee e
Battery door, TQ 2.4 transmitter (replacement for #6516, 6517,

6528, 6529, 6530 tranSMILtEI)........cvereriierierine et $4.00
Battery, Power Cell AA AIKAlINE (4)...ccceevriiieieiiieieeseee e $3.99
Battery, RX Power Pack (5-cell hump style, NiMH, 1200mAh) . $30.00

Battery, Series 1 Power Cell 1500mAh (NiMH, 6-C flat, 7.2V,
Sub-C)
Charge lead
Charger, A/C, 350 mAh (6 cell, N|MH)
Charger, EZ-Peak AC/DC, 4 amp
Charger, EZ-Peak AC/DC, 5amp, NiMH
Charger, EZ-Peak Plus, 6amp, LiPo, NiMH fast charger ...
Charger, EZ-Peak, 2-amp, 6V-9.6V,5-8 cell NiMH fast charger ..
Gear set (for 2018 servos)

$32.99
$4.00

Gear set (for 2070, 2075 servos).. .. $4.00
Mounts, RPM sensor (nitro engines)/ 3x10mm CS with split and

lat WASHEIS (2)...iueiieiiiiiee sttt $4.00
Power adapter, AC (for TRX Power Charger) (switching type,

auto power input selection 100-240VAC 50-60 HZ).................... $19.00
Power adapter, DC (12V car adapter for TRX Power Charger).. $7.50
Receiver, micro, TQi 2.4GHz with telemetry (5-channel)................. $50.00

Sensor, RPM (long)/ 3x4mm BCS (2)/ 3x4 GS (1)
Sensor, temperature and voltage (long)
Servo case (for 2018 servo)
Servo case (for 2055 servo)
Servo case (for 2070 servo)
Servo case/gaskets (for 2056 and 2075 waterproof servos)
Servo gears (for 2055, 2056 servos)
Servo, digital high-torque (ball bearing)
Servo, digital high-torque (ball bearing), waterproof..
Servo, high-torque...........ccccoviiiiiics

Servo, high-torque, waterproof (blue case)
Telemetry expander, TQi radio system....
Telemetry GPS module, TQi radio system
Temperature sensor, EZ-Peak Plus
TQi 2.4 GHz High Output radio system, 2-channel Traxxas Link

enabled (2-ch transmitter, 5-ch micro receiver) ..........ccccoccveeeieeenns $135.00
TQi 2.4 GHz High Output radio system, 4-channel with

Traxxas Link Wireless Module (4-ch transmitter, 5-ch micro

TECEIVET) 1ttt ettt ettt ettt ettt ettt $200.00
Transmitter, TQi Traxxas Link enabled, 2.4GHz high output, 2-

channel (transmiItter ONlY) ........cccooveiiiiiiieeic e $100.00

REV. 140421 1139



Page 3 Nitro 4-Tec: TQi 2.4GHz Radio System & Traxxas Link Wireless Module (Model 48077) Parts List

6529

6530

6511
3034

48077

4317
4352X

4354
4352
4850
4875
4841

2658

2669

2362
1942

2742X
2667
4261T

4262T

4261
4262
1765
1666
2668

3764A
2362
1942

2742X
3767

2667

3767A
3767G
3767X
4262T

4262
1765
1666
3769
3768

4267
4267A
4260

4260A

4885
4887

4886

2728
2545
4843
1942

Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,

3-channel (transmitter ONly) .......cccceviiiieiieiieeeeeee $105.00
Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,

4-channel (transmitter only). .
Traxxas Link Wireless Module
Wiring harness for RX Power Pack, Traxxas mtro
vehicles (includes on/off switch and charge jack

-To-Race Model

Nitro 4-Tec: 1-10 Scale Nitro-Powered 4WD Supercar with TQi
2.4GHz Radio System and Traxxas Link Wireless Module.............

Rear Suspension

ShOCK tOWET, TEAN .....ccivreiee e ettt e areee e $3.00
Stub axle carriers, blue-anodized 6061-T6 aluminum, rear (1.5

degrees t0e-iN)(L&R).....ccocuveiiiiiiiiieiieeee e .. $26.00
Stub axle carriers, rear (O degree toe in) (I&r) $3.00
Stub axle carriers, rear (1.5 degree toe in) (I&r) . $3.00
Suspension arms, rear (1&r).. $5.00
Sway bar set (front/ rear) $4.50

Tie rods/ upper camber rods (rear) (24mm turnbuckles) (4)/
draglink, 36mm (threaded rod $4.

Shocks (Pro-level Aluminum)

Big Bore shocks (short) (hard-anodized & PTFE-coated T6
aluminum) (assembled with TiN shafts w/ springs)(f/r)(2)

(Note: Assembled with 32mm shafts, 29mm shafts included).. $30.00
Piston head set (2-hole (2)/ 3-hole (2))/ shock mounting
bushings & washers (2) (Big Bore ShoCKS) ......cccceevviiienieeenins $2.50

Rebuild kit, Ultra shocks (for 2 shocks ...
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
screws (2)
Rod ends, short (6)/ hollow balls (6)

Shock caps, aluminum (2)/ (Big Bore Shocks)........cccocevcvniens

Shock shafts, hardened steel, titanium nitride

coated (29Mm) (front) (2) ...ceeveeiieiieiee e $10.00
Shock shafts, hardened steel, titanium nitride

coated (32MM) (2) .oveeieeiee e $10.00
Shock shafts, steel, chrome finish (29mm) (front) (2) ........c...... $3.00

Shock shafts, steel, chrome finish (32mm) (2)
Silicone diaphragms (4)
Silicone shock oil (30 wt)
Spring retainers, upper & lower (2)/ spring pre- Ioad spacers:
imm (4)/ 1.5mm (2)/ 2mm (2)/ 4mm (2)/ 8mm (2) (Big Bore

Shocks

Shocks (Ultra Shocks)

Body, Ultra Shock(s) (short) (grey) (2)
Rebuild kit, Ultra shocks (for 2 shocks
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
screws (2)
Rod ends, short (6)/ hollow balls (6)..
Shock caps (2)/ shock bottoms (2)

Shock caps, aluminum (2)/ (Big Bore Shocks)........cccocevcvriens

Shock caps, aluminum (blue-anodized) (4) (fits all Ultra Shocks)..... $14.00
Shock caps, aluminum (green-anodized) (4) (fits all Ultra Shocks).. $14.00
Shock caps, aluminum (red-anodized) (4) (fits all Ultra Shocks) ...... $14.00
Shock shafts, hardened steel, titanium nitride

coated (32MM) (2) .oveeieeiieeiiie e $10.00

Shock shafts, steel, chrome finish (32mm) (2)
Silicone diaphragms (4)
Silicone shock oil (30 wt)... .
Spring pre-load spacers: 1mm (4)/ 2mm (2)/ 4mm (2)/ 8mm (2).....
Spring retainers, upper & lower (2)/ piston head set (2-hole (2)/
3-hole (2))
Springs, black (front/ rear) (2)
Springs, white (front/rear) (2)
Ultra Shocks (black) (short) (complete w/ spring preload
SPACETrS & SPIINGS) (2)..eeveeriieiiieitieiieii et
Ultra Shocks (grey) (short) (complete w/ spring preload spacers &
i 2

Spur Gears & Pinion Gears
Gear, 1st (optional)(41-tooth)
Gear, 1st (standard)(45-tooth)
Gear, 2nd (optional)(37-tooth)..
Gear, 2nd (standard)(41-tooth

Steering Components
Ball bearings (5x8x2.5mm) (2).....
Bellcrank bushings (plastic) (5x8x2.5mm) (4).
Bellcranks (I&r)/ bellcrank post spacers (2)
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball
screws (2)

2742
2742X
3932
2715
3744
2537
4841

Rod ends, long (6)/ hollow ball connectors (6)
Rod ends, short (6)/ hollow balls (6)
Screws, 3x6mm flat-head machine (hex drive) (6)
Servo mounts (2)/ screws (6)
Servo saver w/ adapters
Threaded rods (20/25/44mm 1 ea.)/ (1) 12mm set screw
Tie rods/ upper camber rods (rear) (24mm turnbuckles) (4)/
draglink, 36mm (threaded rod

1942

2742
2742X
3744
4838
4875
2537
4841

Suspension Linkage
Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

screws (2) $7.00
Rod ends, long (6)/ hollow ball connectors (6) $4.00
Rod ends, short (6)/ hollow balls (6) .. $4.00
Servo saver w/ adapters $4.00
Suspension screw pin set, hardened steel (hex dnve) $4.00

Sway bar set (front/ rear) .
$2.50

Threaded rods (20/25/44mm 1 ea.)/ (1) 12mm set screw
Tie rods/ upper camber rods (rear) (24mm turnbuckles) (4)/
draglink, 36mm (threaded rod $4.00

2514
9950

4882
3182
4884
4883
3180
4182
4868
3184

Team Traxxas ltems
Decal sheet, raCcing SPONSOIS ........ccoveiiieiieiieieeeee e
Official Team Traxxas racing decal set (flag logo/ 6-color)
Traxxas racing banner, red & black (3x7 feet

Throttle & Brake Linkage

Brake cam (blue-anodized)/ cam leVer ..........ccocceeviieeiieeiniecninenns
Collars, screw (2)/ set screws, 3mm (2)
Disc, brake/ hub, adapter/ 2mm pin...
Pads, brake/ cap screws

Rod guides (2)/ 3mm nylon locknuts (2)

Servo horn, throttle-brake/ shift (1) $2.50
Slide carb linkage set (throttle link, brake link, and hardware) $6.00
Springs: throttle/brake/shift (3)...........cccoooiiiiiiii $1.25

Tires & Wheels

4375

4607
4710
4611
5116
3647
1747
1747R
1747G

1985
1647
2754
4873

4370
1654
1654X

4872

1942

2742
2742X
2537

4889
4892
4890
4891
4898
4897

Adapters, wheel (for use with aftermarket wheels in order to
adjust wheel offset)
Ball bearings (5x11x4mm) (8)..
Ball bearings (5x11x4mm) (12)
Ball bearings (5x11x4mm) (2)

Ball bearings, blue rubber sealed (5x11x4mm) (2) .......

Nuts, 4mm flanged nylon locking (steel, serrated) (8) .. $3.25
Nuts, 4mm nylon locking (10) $2.00
Nuts, aluminum, flanged, serrated (4mm) (blue-anodized) (4).. $7.50
Nuts, aluminum, flanged, serrated (4mm) (green-

F=TaoTe [Fd=Te ) I () PSSR $7.50
PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearings) ... $2.00

Silicone grease.....
Stub axle pins (4) ....
Tires, Pro-Trax on-road (medium compound with contoured

inserts) (mounted and glued to part #4872 wheels) (2 left, 2 right) . $40.00
Tires, slick (f/r) (2) (with foam inserts) $9.00
Wheel hubs, hex (2)/ stub axle pins (2) ....
Wheel hubs, hex (blue-anodized, lightweight aluminum) (2)/
axle pins(4)
Wheels, satin finish, mesh (2.0)(designed to fit 1.9 tires)(2)
White plastic washers (5x8x1.0mm) (6

Turnbuckles & Threaded Rods

Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball

SCIEWS (2)veeteeteestee st et e ettt ettt ettt
Rod ends, long (6)/ hollow ball connectors (6)
Rod ends, short (6)/ hollow balls (6) .
Threaded rods (20/25/44mm 1 ea.)/ (1) 12mm set screw................

Two-Speed Components

Ball bearing (1)(10X19X5MM) ...cviiviiiiiiiiiierieee e $4.50
drive hub, clutch/ pawl & pin (installed)/spring/ set screws (2) $16.00
Gear hub, 1st/ one-way bearing (installed)/ snap ring $26.00

Rear hub, 2nd/ snap ring .........cccceeevieeiiiieinieens
Rings, retainer (snap rings) (22mm) (2)
Screws, set (grub) 4mm (6) (with threadlock) ..........c.cccooviiiiennne

If you have questions or need technical assistance, call Traxxas at:
1-888-TRAXXAS
(1-888-872-9927) (U.S. residents only)

For orders, calls outside the U.S., and other information, call 972-549-3000,
or fax to 972-549-3011 e-mail Traxxas at support@Traxxas.com

TRAXXAS.com

REV. 140421 1139



